Exercise 10

[. OD = 20A,
OF =308, )
57( —a and )
OB = b. |
— —— . erms of @ and b respectlvely.

(a) Express 92 and OE 10 : ! ‘.b :
(b) Express BA in terms of a and b-

_ BA .

¢ ss ED in terms of a and b.
(c) Express E mn ABA, express OC in terms of a and b.

(d) Given that BC =
ints E, D and C

sof a and b.
how that po

(e) Express EC in term na
(f) Use the results for El_j and EC t0'S
liec on a straight line.

2. OY = 20B,

OX = $0A,

OA = a and

OB =b.

(a) Express OY and OX in terms of b and a respectively.
AB faandb.

(b) Express AB in terms O

(c) Express XY in terms of a and b.

(d) Given that K?:’ = 6553), express (_)_é 1
(e) Express XC in terms of a and b.

(f) Use the results for XY and ﬁ to show that points X, Y and C

lie on a straight line.

n terms of a and b.

3. 0A =1,
OB =b, p
BR =b and
AP =2BA :
— — A

((Z; Express Pﬁ and BP in terms of a and b

Express RQ i |

Qintermsofaand b, ' | e
o O b B

(@ Express QA op
;@ and QP in te .
~ (d) Using th n terms of a and b,
U Straighte l‘ifsztors for RQ and QP, show that R Qind B
e LR T oo e » Qand P lie on




. OA T8 and OB <,

4R A and P lies on
Q). AR S
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thay O e, ey
= e

\ v < \li and /\_l:’in lerms of 5 .

: ‘“:-,-. \'\ and MPin termg p a«l‘nd b,

i)| I \lf;‘c" on OB produced such th-uqhd h.

x’f‘ n '-.- M"'Q in terms of a and y, ¢

* C\]*[C'.‘-”““ I\“)x 1S a Sll'uight lih.e
oV .

OB o Bx

S S |
L5 b gpoint of AB.
. B'ﬁ and AB in terms of 5 and
b.

‘l\.pfefﬂs P )
0 E\'prCSS MB in terms of a and b,
o ‘X fies O BP produced so that B} _, ——
@ I/s'( in terms of a, b and k. = k. BP, €Xpres
VX lhe value of Kk if MX is p ’

o o arallel to o,

—_—

Express X)z in terms of a and b.
pu—
Express BC in terms of a, b and m.

O :
0 Given that OX 18 parallel to BC, find the value of m
cy s parallel to O
—_—
Cx = ';'CD,
O/C) =C,
O’D' =d and

 (a) Express EB in terms of ¢ and d.

() Express CX in terms of ¢ and d.
—_—

(¢) Express OX in terms of ¢ and d.

: (d)EX_press DY in terms of ¢, d and 7.
() Given that OX is parallel to DY, find the value of n.

t



8. M is the mid-point of AB,
N is the mid-point of OB,

—67\ =a and
OB =b.

(a) Express Kﬁ, m and _C_)-ﬁ in terms of a and b.

(b) Given that G lics on OM such that
0G i faandb.
0G:GM = 2:1, express OG in terms 0
(c) Express /—\6 in terms of a and b.
(d) Express m in terms of a and b.
(¢) Show that A—d = m/-\—ﬁ and find the value of m.

9. M is the mid-point of AC and N is the mid-point of OB,
OA =a, . B

E)_ﬁ =b and

—

OC=c.

(a) Express Xﬁ in terms of a and b.
(b) Express O_I:J in terms of b. | - Y
(c) Express /—f\_(—f in terms of a and ¢.

(d) Express m in terms of a and ¢.

(e) Express OM in terms of a and ¢.

(f) Express W in terms of a, b and ¢. . .
(g) If N and M coincide, write down an equation connecting a, b

and c.

>

10. OA = a and
OB=b.
(a) Express BA in terms of a and b.
(b) Given that BX = mBA, show that OX = ma + (1 — m)b.
(c) Given that OP = 4a and _Iﬁ = 2b, express 66 in terms of a and b. ) —

(d) Given that oX = nﬁ(j use the results for OX and 6(3 to find
the values of m and n.

11. X is the mid-point of OD, Y lies on CD such that

CY = 1Cp,
O_C)=cand
" OD=4d.

(a) Express EB, CY and 0Y in terms of ¢ and d.
(b) Express CX in terms of ¢ and d.

(c) Gij/_ell that CZ = h&, express 07 in terms of ¢, d and A. 0
(d) IfOZ = kO_Y), form an equation and hence find the values of 4 and .




